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The woman who brought her sin-offering and died

OVERVIEW

The 77n teaches us” that a woman who gives birth must bring two n1127p, a
nxvn and an 791; if she can afford it, the 79 is a sheep and the nXvn is a
bird (Mn W 71 72), and if she is poor, both Mi177 can be birds. The
procedure is that the nxvn is offered first and then the 79w. The mwn cited in
our X3 teaches that if she died before bringing her 7771y; the heirs are
required to bring it. Moo will discuss the implication of the X5°0 of this
awn.

— NO0 NPI (h mwnapro) BP NIVNI RN NIVN

This is a mwn in 2%p noon, and the 8290 of that 71wn states -
— ANNLN NIV INYAY XY NNNY NNDIY NNAN

If she brought her 775w and then she died, her heirs should not bring her

NNRWA bird offering -
— >NOIN NPNYY NOYYA INNY NRON HNT BIVN YIS

The explanation is because it is a nXunm whose owner died, and such a

nXoun is to be put to death. Therefore they cannot offer a M nxwn.
— NNMY NN NNV INAY XY NIYIN XPYT ¥NRYN

It is apparent from this 71wn that only her heirs cannot bring her nxun

after her 7191 if she died -
- 411‘”\9&1 ANYIY NN ANNLVN ANGAN N NNN ON NNPNY NIN AN

However the n721 herself if she was still alive after she brought her 79,

she would bring her nxun after her 7 and be exempt from bringing any
more Mi17p. Even though she brought her nxvn after her 79w, she nevertheless fulfilled
her obligation.

Mmoo questions this conclusion:
—19999N (x,03 o2nEs) DAY 190N V92T NI

And this is astounding! For in the beginning of wmw: 75»n P75 the Xn»M2

states -
— N N9y NYH HIRLVN 1PN DNNY MNAY MIIYY PNTP HINON 594

" This MmooIn is referencing the X713 on the 'a Tmy.

2 1-,20 (¥70) RPN,

? There is a *0n wnY 7297 that five (types of) mxun are starved to death; one of them is a %y2 1w nXuLA.
* See “Thinking it over’.
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That all mxwn precede any m»'p that accompany them; even a bird nxun
precedes an animal 7919 which accompanies it® -

mMooIn concludes the question:
— ANNLN OTP NNDIY NINXANY TVWON PN )5 ON)

And since this is so that a nXvr always precedes an 7719, how is it possible

that she brought her 775y before her nXwrm and she fulfills her obligation?! She
should be required to bring an (additional) 79w after the nxvr!

mooIN anticipates a possible solution:
— NPT HMTP MNRVNN NPNY MISNT MNIRP NYINNILT 91919Y NI

And we cannot answer that the X723 there meant that initially it is a /m13»

for the nmxun to precede the m»y -
— *ny9nN NNONN NP NYIVN NNXTPN ON Tayr7a YAN

However after the fact if the 72w preceded the nxvn, the nxun is offered

after the nw. This would explain that if the woman was still alive she may offer the
nxvn after the 79w and her obligation will be fulfilled (without bringing an additional
o).

mooin, however rejects this solution; there is no difference between 17°nn2% and 72v°72:
— NOINM '35 1) (aw) VAYI NN P92 P29 NNT

For the X3 asks in wrw: 79%2n p9; and can the 779 have already been

offered, but we learn in a Xn 12, it is written in the %370 —
— 5919 91219 7NN NN NMYRY HIXVAY TUNR NN 299779

‘And he should offer first that which has been set aside for a nRvn’; what

does this teach us, etc. -
— 1Y PINAD MY MNP MHNOND YW AR N2 At 7>0m)

> A n79 (who can afford it) brings a wa3 for an 79 and a 731 12 or a M for a nxurn. The nxun offering
precedes the 19 offering.

% We assume that if the 791 was brought first the obligation will be fulfilled if a nXvri is brought afterwards.
7 A poor y¥n brings for his purification process a sheep for an awx and two birds one for a nXvn and one
for an 797. In the X3 there, X701 27 maintained that this ¥71%1 nXvn may be brought even after the v 7nn
0°27¥7 12 [to permit him to eat 2°w7p at night], since (as a 71 NXY) it is not burnt on the 12 (only its
blood is sprinkled on the nam). The X3 asked but there is still the 7Ww7 2w (which is burnt on the n1am)
which will prevent him from eating o°w7p (what will be accomplished if we allow the 71v77 nXvn). The X nx
continues that we cannot answer that the 7w 021w was already brought (before the 0°27v7 1°2 YW %0 and)
before the 71wn nkvn, for we learnt in a Xn72 (cited in this NdOIN) that the nXvr is to be brought first. It is
evident from that X3 that even 72v°72 (if the 77 was already brought) one will not fulfill his obligation
by merely bringing a nxvn (but rather another 721y must be brought after the nxwvn).

¥ 73,7 X9p™); concerning a T 79 1277
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And the &n>>12 concludes; this 7109 is a *ax 112 that all nxwn precede the

My that accompany them. This concludes the citation of the xn>2.
— 11299 NY 723972 1999NT ¥1IUN NIYN

It is evident that even post-facto it is not considered a proper offering.

How can we understand here that she brings her nxun after her 77 and her obligation is
fulfilled?!

Mo0IN answers:
— Y9189 991 ONNT 1D YN

And one can say that there the Xn»72 is discussing a ¥y71%7» -
— 129D RY 729972 99%9N INT NN Y9180 NPT

And it is only specifically by a ymx» that even 72y°72 it cannot be

considered as an offering -
— N2 MNNT NPIN HNXT (% xapn) NNN N2 29NIT DIVN

Since the term 77 (being) is written by a y1x»n, for the 77N writes, NN?
7nn (this shall be) the term 7°7n (or 7M7) indicates that the 7792 is held

back if it is not done in the order prescribed -
—x,n 91 DININT NP P92 NIINTD

As is evident in the first P22 of nmn noon -
— 499V Na9P 7a¥773 1999IN Nbya YaN

However elsewhere the ruling is that 72¥>72 (even) if the 77 preceded the
nXoun, it can indeed be considered a proper offering.

mooIn offers an alternate solution:
— NN (3,0 ©nEs) DNNT NIPONN 2997 919D U 33 N

Or one may also say that according to the conclusion of the X713 there, it

is understood -
— Paa5 nYynw ynawnt N9y 22507 01vn TU5 53 1ay31a) MNP

? A 2% P12 is one of the o772 MW7 71w MTa »; if we find a law in one instance we may apply it to other
cases as well (unless there is reason not to).

105 pyoo.

' o5 21 there states that by ym1%» the procedural order is 2091 since the term 7% (7°70 NXY) is used.

12 5,7> (ymen) X7p". That P09 is discussing a 1wy y1¥n who brings three sheep; one for an awx, one for a
nxun and one for an 77W. It is to be offered in this order; however since the 310 writes 727 DX 3797 7729
(instead of 79y> 7197w X1 [in the future tense]); this teaches that even if the 77 preceded the nXvn it is w>.
" mooin in the question knew this answer of X231 that by y1%» it is 729°72 7w3; however Mo thought that
only by y1¥n is it w3 since we have the 7% of 77vm. The reason Moo thought that this 21 applies
only to ¥yMx¥n is because when X271 gave this answer he said y71¥» "IRw (¥y¥» is different) indicating that
this 72¥>72 In°7 is only by yMxn (see n'"m1 and 7"k # 79, 80). In the first answer N1OIN assumed that the
reason a Y% needs a 72y°72 207 is since the term %37 is used which means X212°¥% (however all other

3

TosfosInEnglish.com



R I"7 0N R PR L1702

For the X123 there states, that 7ap>7a it is also 2w> since it is written 79y

which indicates that it was already offered on the rmam -
— AN 122210 1172 NYya 13995 ANY)

And now we derive elsewhere with a a8 312 from y1en -
H:NnYya 1910 XY D29 TaPT7aT ¥I8Na 1Y 99NT ANNDT

That once it was revealed by mx» that 72¥°72 the nXurn can be offered
after the 79w, the same ruling applies elsewhere.

SUMMARY
The rule of 79Ww% o7 nXvn is only 79°1N3% however 72372 he is XYY even if
the nXvn was brought after the 72 (in all cases).

THINKING IT OVER

moon infers from the fact that the miwn states that the w771 cannot bring
her nxvr, this indicates that she can bring her nXvn and is 77D from
bringing an additional 7>w."” Seemingly this inference is not understood.
Perhaps the inference is that her 2°w71 cannot bring her nXvn and complete
her 7793; however she can bring her nXvn and complete her 7793 provided
that she subsequently brings another 791 after the nxun.'®

M127p need no special 72¥°72 70°7). N1BOIN second answer is that all N137p are 72¥°72 7NN, (only) because
they are derived from y¥». See 2w 7"7 R,77 2°N2r NDOMN.

' According to Mmoo first answer the rule of 79> NyTP NXLA is only M¥n? and not XN°wY (except for
y7¥n where I would have thought that it is X215°¥% [if not for n%¥m] since the 770 wrote 7°7n NXT).
According to Mmoo second answer the rule of 72192 na7p nRun would have been X21>°¥2 by all nap
(including y11%¥n); once we know that by y1¥» it is not X219°¥7 (from 7%vm) then we derive with a 2R 113
that by all other n1127p it is also not X215°¥% (or certainly not ¥212°¥% [since by them there is no 717]).

15 See footnote # 4.

' See "R # 67.
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